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QUESTION 1

Your job is using the Sequential File stage as a source. Identify two stage property configurations that will allow you to
accomplish parallel reads? (Choose two.) 

A. Read Method property set to \\'File Pattern\\' and the environment variable
$APT_IMPORT_PATTERN_USES_FILESET is set to \\'FALSE\\'. 

B. Read Method property set to \\'File Pattern\\' and the \\'Readers per Node\\' property value set to greater than 1. 

C. Read Method property is set to \\'Parallel\\' with the Key property set to a Input column that has the file names. 

D. Read Method property set to \\'Specific File(s)\\' with only one file specified and the \\'Readers Per Node\\' property
value set to greater than 1. 

E. Read Method property set to \\'Specific File(s)\\' with more than one file specified and each file specified has the
same format/column properties. 

Correct Answer: DE 

 

 

QUESTION 2

A job design consists of an input Row Generator stage, a Filter stage, followed by a Transformer stage and an output
Sequential File stage. The job is run on an SMP machine with a configuration file defined with three nodes. The
$APT_DISABLE_COMBINATION variable is set to True. 

How many player processes will this job generate? 

A. 2 

B. 4 

C. 6 

D. 8 

Correct Answer: D 

 

 

QUESTION 3

In the Slowly Changing Dimension stage, a dimension columns Purpose code property can trigger which two actions.
(Choose two.) 

A. Update fact table keys. 

B. Detect dimension changes. 
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C. Update the dimension table. 

D. Insert rows into the fact table. 

E. Delete duplicate dimension table rows. 

Correct Answer: BC 

 

QUESTION 4

Which stage classifies data rows from a single input into groups and computes totals? 

A. Modify stage 

B. Compare stage 

C. Aggregator stage 

D. Transformer stage 

Correct Answer: C 

 

QUESTION 5

Which two file stages allow you to configure rejecting data to a reject link? (Choose two.) 

A. Data Set Stage 

B. Compare Stage 

C. Big Data File Stage 

D. Lookup File Set Stage 

E. Complex Flat File Stage 

Correct Answer: CE 
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